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QUESTION 1

Regarding content filtering, what are two pattern lists that can be configured in the Junos OS? (Choose two.) 

A. protocol list 

B. MIME 

C. block list 

D. extension 

Correct Answer: BD 

 

QUESTION 2

You have a chassis cluster established between two SRX Series devices. You re monitoring the status of the cluster
and notice that some redundancy groups show disabled. 

What are two explanations for this behavior? (choose two) 

A. The fxp0 interface is down 

B. The fxp1 interface is down 

C. The fab interface is down 

D. The swfab interface is down. 

Correct Answer: BC 

 

QUESTION 3

Regarding content filtering, what are two pattern lists that can be configured in the Junos OS? (Choose two.) 

A. protocol list 

B. MIME 

C. block list 

D. extension 

Correct Answer: BD 

 

QUESTION 4

Click the Exhibit button. 
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Referring to the exhibit, assume the node0 impairment was caused by a reth interface going down. When the interface
comes back online, which statement would be correct? 

A. If node0 is configured with priority 200, it will take over as redundancy group 1 primary. 

B. If node0 is configured with priority 1. It will take over as redundancy group 1 primary. 

C. Node0 will take over as primary for redundancy group 1 regardless of node\\'1s priority. 

D. Node1 will stay primary for redundancy group 1 regardless of node0\\'s priority. 

Correct Answer: D 

 

QUESTION 5

You want to allow all hosts on interface ge-0/0/0.0 to be able to ping the device\\'s ge- 0/0/0.0 IP address. Where do you
configure this functionality? 

A. [edit interfaces] 

B. [edit security zones] 

C. [edit system services] 

D. [edit security interfaces] 

Correct Answer: B 
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